OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (FiRR)

% 1 - 2 %B {‘ /\ é%*ﬁ
(1/9R=9)
stgimE REBEFL) L2 () BRI () HHHIR (ka/ 5 414978 idng-TEQ/ ) BIE Ko/ T v
He- %
g | T TokE o
7] =a
g ME £ gy | mm | ook [oxm | ok | o e | am | = [ & |en| xs | 5P| wm | mm | ent [ EFD| o | em

= wo| @& BE
1T DAL S 78 7| 121 2[ 7 0 of 78 7 2 9 80 8317 8398 1891 7 1898 10296
3l7H Y IEETFIL 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7oy LBROEDKEMESE 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
NFZOYNEE) LT IL—TFI 1 1 2 1 0 0 0 1 1 0 1 320 0 320 42000 0| 42000 42320
8|7 UILEEAFIL 1 1 1 1 0 0 0 1 1 0 1 440 0 440 1500 0 1500 1940
al7rym=ryJ 1 1 1 0 1 0 0 1 1 0 1 0 16 16 150 0 150 166
2lre r7IFTER 3 0 4 2 2 0 0 4 0 0 0 2940 5400 8340 0 0 0 8340
BlFer=r YL 1 1 2 1 1 0 0 2 1 0 1 1 37 38 77 0 77 15
ulrerrerrieryy 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B\r7er727> 2 0 2 2 0 0 0 2 0 0 0 93 0 93 0 0 0 93
162, 20 —F7VYERA4YTFO=KYI 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
18|7=1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2002—7=x)xTH8H)—)L 4 6 12 2 2 0 0 4 6 0 6 140 3400 3540 34449 0 34449 37989
2ls—7z/-1-[2, 6—-Ys0n-4 0 1 1 0 0 0 0 0 1 0 1 0 0 0 5 0 5 5

— (MUzi4axFiL) 7z=)L] =3

-7/ —4—-[ (MUZ)LAOXFI)

Z)b)? 1= ESV—=IL (BI&7 470

=)
291 =7Vt xv—2, 3—xTKRF*>S0O 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

/\°‘/
N[EETILFIRYEY IR VBRTETD 0 ! a0 0 0 0 0 1 0 1 0 0 0 27 0 27 27

B (PLFNEORFHEN 1 0B 14F

TODLEDRUVZDEEMICERD, )
N7V FEVRCZDIEEY 2 4 9 2 1 0 0 3 4 0 4 n 13 24 2476 0 2476 2500
RI7VNSEY 2 0 2 2 0 0 0 2 0 0 0 3 0 3 0 0 0 3
M3—AYYTFRAFI—3, 5, 5— | 0 1 1 0 0 0 0 0 1 0 1 0 0 0 7000 0 7000 7000

YAXAFILSIANFYI=AY T Z—h
374, 4 —qyFAYFyT I /—) 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

(REERZ7/—IA)

HRHEE « TAR30FE




OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (FiRR)

%1 - 2 %B {‘ /\ é%*ﬁ
(2 /) 9==%)
stgimE REBEFL) L2 () BRI () HHHIR (ka/ 5 414978 idng-TEQ/ ) BIE Ko/ T v
P
g | T TokiE o
7] 0&
g ME £ gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e

= wo| #E BE
(2 - FISYSVFFY 0 1 1 0 0 0 0 0 1 1 0 0 0 9 0 9 9
31, 17 — [,r IS (U9 AFLY) 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0

19079y BIBA37059Y)
444 :)-7/_\&0%@4|3A¢@ 0 1 1 0 0 0 0 0 1 1 0 0 0 3 0 3 3
BIO—xTFNI=0—-4—=—rAT7zxx=I)L=7 20 0 106 0 20 0 0 20 0 0 0 305 305 0 0 0 305

IZWVEKRRB/FAT—b (BIZEPN)
HIN— (1 —TF)FOElL) —2, 6= 0 1 1 0 0 0 0 0 1 1 0 0 0 100 0 100 100

—hE=3, 4-F2 IV BERVT

AX5Y )
51{2 — T F)ILAFH B 0 1 1 0 0 0 0 0 1 1 0 0 0 4900 0 4900 4900
BlzFIRVEY 361 33 363 361 0 0 0 361 33 33 139876 0 139876 43115 0 43115 182991
56|TFL VAR 3 0 5 3 1 0 0 4 0 0 17 68 85 0 0 0 85
SIlTFL vy Yyad—ILE/ITFILT—FIL 1 0 1 1 0 0 0 1 0 0 2000 0 2000 0 0 0 2000
SBlTFLYAY =TI AFIIT—FI 3 2 3 3 0 0 0 3 2 2 17918 0 17918 4490 0 4490 22408
RlrrFLyvFTIY 1 4 6 1 0 0 0 1 4 4 32 0 32 5806 0 5806 5838
0| TFL V7 I bR 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
642 — (4—T hFoTT=J) —2—XF 0 1 1 0 0 0 0 0 1 1 0 0 0 31 0 31 31

Lroei=3-— 71/#y«/yw1—

TN BIET 7z FOYIR)
s5|lcEsooe RY Y 2 1 2 2 0 0 0 2 1 1 349 0 349 320 0 320 669
66[1, 2—TR*x>THY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
68|11, 2—xTRF*>T7ONY (BlEEEETO 2 0 2 2 0 0 0 2 0 0 309 0 309 0 0 0 309

ELy)
ELE =% 0 5 28 0 0 0 0 0 5 5 0 0 0 486304 0 486304 486304
BI1—F94%)—)L 1 0 1 1 0 0 0 1 0 0 120 0 120 0 0 0 120
BlARIHALARVTZDIEEYW 1 0| 107 0 1 0 0 1 0 0 0 10 10 0 0 0 10
47Oy —hrOs504% A 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ALY LS TFIR 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0

HRHEE « TAR30FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - BEVERIDSESET (#FiRR)
®1-2 #MEFRH -  £2XE
(3 /9R=2)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
-7
B kit EJ%
T K3 =5
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= k| B %E
|F LYV 408 44|  504| 408 2 0 o 410 44 44| 263447 18 263465 70645 0 70645 334110
Q2|8B R Z DALY 2 0 7 1 1 0 0 2 0 0 0 7 7 0 0 0 7
83|y A v 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0
84T A XY —I 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0
86| L —IL 2 3 3 2 0 0 0 2 3 3 1800 0 1800 24792 o 24792 26593
8717 O LRV =i 7 O LEEY) sl 14| 3 4 30 0 o] 34| 14 15 16 297 313| 133544 3| 133547 133860
88|75l 7 O LML 2 6l 121 of 24 0 of 24 6 6 0 62 62 2019 0 2019 2082
“lyonTFLr (RAERIEE=IL) e 0 ! : 0 9 e 0 0 0 : 0 9 0 : 0 0
98|» o oEeRe 1 0 2 1 0 0 0 1 0 0 3 0 3 0 0 0 3
10012—s0Q—-2", 6 —YITFIL—N-— 0 1 1 0 0 0 0 0 1 1 0 0 0 38 0 38 38
(2=7ARFIFIL) PTEIMZZUFR
BEFLFZo0—))

m3(2—-s00—-4, 6-EX (ZTFILT7I/ 10 o| 106 0 10 0 0 10 0 0 0 9 9 0 0 0 9

) -1, 3, 5-hUTYY (RlBEYTY

YXIFCAT)
16| (4RS, 5RS) —5— (4—4QOQ7 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0

T=)b) —N=voanFyb—4—XF

V—=2—F%Y—-1, 3—FF7V)I V-

3 )—t)b/d?:\'—h‘s F BlaANFFTVY

A
122|12 —sOoO070o4 Vg 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1233 — oo 7oRy (BI&ELETYIL) 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
127(7 o awRIL LA 4 3 4 4 1 0 0 5 3 3 3003 1 3004 2310 0 2310 5314
128|700 249> (B&iEAFIL) 2 0 2 2 0 0 0 2 0 0| 14025 0 14025 0 0 o 14025
129|14 —/OO—3—AFIL7x/—I) 0 1 1 0 0 0 0 0 1 1 0 0 0 5 0 5 5
132|380 FRUZDEEY 2 6 10 1 1 0 0 2 5 6 1 40 4 5128 1 5129 5170
134|EeEL =L 3 1 4 2 1 0 0 3 1 1 4400 2 4402| 24000 o| 24000 28402
137l F7+3I R 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0

HRHEE « TAR30FE




OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (FiRR)

x1-—2 EWEFRG - 2%
(4 ) 9=—3)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
BT
E| T TKE o
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= | & B
40| (RS) — 7N I7—>F)—3—Tx) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 4 0 4 4
FONRVYUN=2, 2, 3, 3=FRhSX
Fhvoa7anYALRESS =k (3
£7xv7OnRbYY)
144(miks 7o b GEERVY T VERES 23 2[ mna4 1 22 0 of 23 2 0 2 23 240 0 0 263 1017 0 1017 1280
R<o
147IN, N=YIFILFAAILNIVEES—4 18 o| 106 0 18 0 0 18 0 0 0 0 61 0 0 61 0 0 0 61
—o0any I (RIEFARYAILTX
BNV FAH—T)
149|PiE (b= 9 1 107 0 9 0 0 9 1 0 1 0 6 0 0 6 8 0 8 14
150(1, 4—AFH> 21 1 108 0 21 0 0 21 1 0 1 0 144 0 0 144 37 0 37 181
1BAl yONFUIT I 1 2 4 0 1 0 0 1 2 0 2 0 12 0 0 12 4 0 4 16
155(N— (v2O0~AFYILFA) 7943 K 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 12 0 12 12
15711, 2—-yyQ0O0xT¥dY 13 0 106 0 13 0 0 13 0 0 0 0 12 0 0 12 0 0 0 12
158 1, 1—=yso00xFLy (RlgElLE= 18 of 106 of 18 0 of 18 0 0 0 0 101 0 0 101 0 0 0 101
7__
189> 2—1, 2—=40O00TFL Y 20 0| 106 0 20 0 0 20 0 0 0 0 113 0 0 113 0 0 0 113
64[2, 2—<ooo—1, 1, 1—KYZJL 1 0 2 1 0 0 0 1 0 0 0 1300 0 0 0 1300 0 0 0 1300
A0T9Y (BIZHCFC—123)
170| (RS) —2— (2, 4—-40O0A7zx= 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1 0 1 1
V) =3—= (1H=1, 2, 4=K YTV
—L=1=4L) 7OEL=1, 1, 2,
2=Fr57LFOTFL=T=FI (3
£ STV
179(1, 3—ysop7aorRy (B&D—-D) 9 of 106 0 9 0 0 9 0 0 0 0 6 0 0 6 0 0 0 6
185|CsoaRvy 740708y (B&H 2 1 2 2 0 0 0 2 1 0 1 4200 0 0 0 4200 210 0 210 4410
CFC—225)
186(Cronxsyy (BEEEXFLY) 33 8| 121 15 18 0 o 33 8 0 8| 190546 61 0 o 190607] 35110 o| 35110 225717
vy rsaoRyeyT Ty 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1800 0 1800 1800
97| F A Y ABEO, O—IUAFIL—S—1, 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 13 0 13 13
2—EZ (ZhFYALR=Z)) TFIL (
EXSYVYRIERSFA V)

HRHEE « TAR30FE



OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (FiRR)

%1 - 2 %B {‘ /\ é%*ﬁ
(5 / 9IR=Y)
s&mE BEEEFH() B AR (1) BB (1) HEH R (ko/ 22" 414948 idng-TEQ/ %) BRI ko/TES SV
BB
g | T Tk o
7] =]
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= wo| @ B
26|11, 3= 7T NTT=VY 0 1 1 0 0 0 0 0 1 1 0 0 0 0 2 0 2 2
20712, 6= —4— v Y—TFI—-4—-% 0 1 4 0 0 0 0 0 1 1 0 0 0 0 T 0 71 71
LY—Ju
212l (RS) =0, S=YAFI=TEFIK 0 1 1 0 0 0 0 0 1 1 0 0 0 0 34 0 34 34
i?w PERFAT7—F BIBT7E7z—
213N, N=SXFJLFERFPZIR 2 6 7 2 0 0 0 2 6 6 4700 0 0 4700 11070 o| 11e7e[ 15770
28| AFITIY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
22611, 1— SAFIVERST Y 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
29| A F )= 4, 4’ — (7.]')IJ|\—7I:|/ 0 1 1 0 0 0 0 0 1 1 0 0 0 0 100 0 100 100
V) ER (3=Fx7O77F+—b) (Bl
BFFIT7R—KAFI)
230|[N— (1, 3—YAFILTFIL) =N — 0 1 1 0 0 0 0 0 1 1 0 0 0 0 5 0 5 5
Tz I)—NR5—TJz=LYITIY
232 N, N=—IAFIHRILLAT IR 5 8 9 4 1 0 0 5 8 8 3829 180 0 4009 32250 0 32250 36259
23|12 = [ (UARNFYERRAT 4/ FA1I) 0 1 1 0 0 0 0 0 1 1 0 0 0 0 24 0 24 24
FA] —2—-T7xZIEEERTFIL (BI&7
IVRI—FMNXIFPAP)
237|/KEERVEF DS 6 0 108 0 6 0 0 6 0 0 0 1 0 1 0 0 0 1
2402 F L v 6 3 8 6 1 0 0 7 3 3 4768 3 0 4771 2657 0 2657 7428
22| L Y ROZFDILEY 18 o| 106 0 18 0 0 18 0 0 0 27 0 27 0 0 0 27
243 y‘/f T xS y# 74 39 92 49 30 0 2 81 39 40]2956. 3530]70. 289224 1600019026. 642 |45345, 042| 0.0001845345, 042 64371. 685
1 18 23418 7218 9018 13598
245 3’—7}@% 1 3 3 0 1 0 0 1 3 3 0 2 0 2 2826 0 2826 2828
251|F4 Y ABEO, O—UAFI—0— (3— 0 1 1 0 0 0 0 0 1 1 0 0 0 0 37 0 37 37
AFI—4—-—=tO7z=)) (Bl&E7x
ZhOFFYXIEMEP)
25| HTOES T LTI—FTIL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
258[1, 3, 5, 7T—FrSPHRYSo0O [ 0 1 2 0 0 0 0 0 1 1 0 0 0 0 0 0 0 0
3. 3.1.1 (3, 7)Y]FThY (B4
NEYAFLUYTRSIY)

HRHEE « TAR30FE




OBELBIHERUVBHEONRILFMERIRFHER

Hr - B ENERI DA (#FiRR)
% 1 - 2 %B {‘ /\ é%*ﬁ
(6 / 9=—%)
stgimE REBEFL) L2 () BRI () HHHIR (ka/ 5 414978 idng-TEQ/ ) BIE Ko/ T v
-7
g | T TkE Eﬁ%
7] 0&
g ME £ gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
= k| B %E

29F RSTFIFISLIZRILT 14 K (B4 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 3 0 3 3

AN T A FL)
261|4, 5, 6, T—FhSoO0A4YRYY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 270 0 270 270

|7¢)3‘/—1 (3H) —7>» (RIBZ7H 34
2|7 hS/OATFLY 17 1| 108 2| 15 0 ol 17 1 0 1 4400 7 0 0 4407 4200 0 4200 8607
265( RSk ROXFILEKT & ILEE 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 4 0 4 4
268|7F RS AFIFHISLAISZILT 4 R (B[ 16 2| 109 o 16 0 o 16 2 0 2 0 22 0 0 22 60 0 60 82

FIOSLREFFL)
270|157 L 7 4 LB 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
M|FLITYIEEY AFIL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BRACAMEE (BEEARRL ., ) s7[ 1| 128 1| s6 0 o 571 10 3 13 25 6187 0 0 6212| 134738 42 134780| 140992
2B =RFH/ =)L (BRI —RTY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

2= D)
5| RFYILERBEF N Y Y A 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1NYTFILTIY 3 3 9 2 2 0 0 4 3 0 3 607 262 0 0 869| 31650 o] 31650 32519
8N IFLYFRSIY 1 0 1 1 0 0 0 1 0 0 0 2 0 0 0 2 0 0 0 2
a9[1, 1, 1—rysOOTHY 17 o 106 o] 17 0 o 17 0 0 0 0 49 0 0 49 0 0 0 49
28011, 1, 2—hUZOOTY Y 15 o| 106 o] 15 0 o 15 0 0 0 0 18 0 0 18 0 0 0 18
281(hYysO00TFLY 5[ s1f 1es[ eof 15 0 o] 75 30 1| 31 459800 12 0 o| 459812 53020 67|  53087| 512899
RN TFLTIY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 o] 24000 o] 24000| 24000
29611, 2, A—KUYXFILRVEY 315 9| 46| 315 0 0 0| 315 9 0 9 6770 0 0 0 6770 19961 0 19961 26731
297|11, 3, B—RMUXFIRVEY 119 6] 97| 119 0 0 o 119 6 0 6 332 0 0 0 332 3612 0 3612 3943
28| N LYSA YT R— R 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
00| fLT Y 45| 57| 426|423 5 0 o| 428] 57 o| 57| 746083 1421 0 0| 747504 530941 0| 530941| 1278445
02|75 LYV 3 3 5 3 0 0 0 3 3 0 3 4712 0 0 0 4712 1041 0 1041 5753
304/58 1 0 8 1 0 0 0 1 0 0 0 2 0 0 0 2 0 0 0 2

HRHEE « TAR30FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - BEIERIDOKE GFRER)
R1—-2 FHEFRR - £%8E
(7 / 9R=2)
REL RS EHTH) HEH 2 () BRI H() SR (ko/ 29" 4449V idng- TEQ/ ) BHE e/ IR
Heh B
5 - 25
T Tk =5
g WELH gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
el w | ® B

305 ﬁ{:}{bﬁ% 18 1 120 1 18 0 0 19 1" 0 1 2 30 32 126989 0 126989 127021
308|=—w 4 )L 3 4 24 2 2 0 0 4 4 0 4 1000 26 1026 1439 0 1439 2465
309|= v /j'jl,ﬂ:‘%qf@ 17 22 34 2 16 0 0 18 22 1 23 74 1379 1453 80598 160 80758 82211
35| A k== O ML Y 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0
318 :ﬁﬁﬂ:ﬁ% 1 0 2 1 1 0 0 2 0 0 0 1500 1200 2700 0 0 0 2700
321 /\j-ylj-b\{tﬁ\% 2 4 5 2 0 0 0 2 4 0 4 5 0 5 173991 0 173991 173996
325k (8=%/1Y /5 hN) 80 (RIZAXS 0 1 1 0 0 0 0 0 1 0 1 0 0 0 30 0 30 30

~ %3 dR)
328[E 2 (N, N=UAFISFAAINIY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 4 0 4 4

Fg) #ih (Al&Y L)
BER (1 —XAFI—1—Tz=J)LITFI) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 1 0 1 1

=S uAxS
3R|MER VT DERLSY 24 1| 109 o 24 0 ol 24 1 0 1 0 310 310 200 0 200 510
3|l RSV 2 2 6 2 1 0 0 3 2 1 3 4 46 50 21 0 21 71
336le kOx /v 1 0 2 0 1 0 0 1 0 0 0 0 50 50 0 0 0 50
39[|N—F=JL—2—-rOy kv 1 0 1 1 0 0 0 1 0 0 0 2 0 2 0 0 0 2
MW7z =)L 2 0 2 2 0 0 0 2 0 0 0 86 0 86 0 0 0 86
MERS oy 2 2 6 2 0 0 0 2 2 0 2 6 0 6 880 0 880 886
32| 1) A 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
9l —)b 4 4 5 4 0 0 0 4 4 0 4 6822 0 6822 198870 0 198870 205692
3BO[3—T /xRS NL=3— (2, 2— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 4 0 4 4

JoopE=L) —2, 2=IAFITY

O7anRvALRFOS—F (BIERILA

b))
354 79)[;@@*\)‘—/}[,7}[,—7“7—}[, 1 2 2 1 0 0 0 1 2 0 2 4 0 4 16 0 16 20
35| 7 HILBEER (2 —TFILAFIIL) 0 5 5 0 0 0 0 0 5 0 5 0 0 0 1558 0 1558 1558
36| 7 GBI —TFIL=~RVI)L 1 1 1 1 0 0 0 1 1 0 1 2 0 2 4 0 4 5

HRHEE « TAR30FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - RBEDERIDKE (FBER)
xR1-2 #HEFRR - £2%E
(8 / 9R—Y)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
-1
B | T Tkl 2
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 w | B
38[N——> v Y—=TFI—-N — (4—T 0 1 1 0 0 0 0 0 1 1 0 0 0 0 0 9 0 9 9
FILRYYAI) =3, B—IAFIRY
VERSYRN BIETT I/ VR)
B1|[7F)= (R) —2—[4— (4—->7J 0 1 1 of of of of of 1 1 0 0 0 0 0 9 0 94 94
—2=27)A07z/F%Y) 7/ %]
)7°|:| EF+—br BIE&>NOKYy TTFI
3743 o {EKZTER TV F DIKAME 62 14 130 7 60 0 0 67 14 14 1144 26680 0 0 27824 123420 0 123420 151245
M7z 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
‘4|11 —JoEFO/y 6 3 7 6 0 0 0 6 3 3 33700 0 0 0 33700 1260 0 1260 34960
386|TOEXSY Y (RLELXFI) ol o 2l 2f of of of 2f o of 2840 0 0 of 2840 0 0 of 2840
W AEHAFLY=U4YLTR—h 1 0 2 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0
32| )L —~"FH 323 3 325 323 2 0 0 325 3 3 96966 21 0 0 96987 15624 0 15624 112611
395\~ L %V B O KRMEE 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
8~y UL=s0Y K (RBELERYIIL) 0 of 2] o 0 0 0 of o 0 0 0 0 0 0 0 0 0 0
PRV ZITILTE R 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
40|~y €Y 390 1| 97| a7m3| 17 0 ol 390 1 1| 19743 30 0 ol 19773 4 0 af 1917
405|1F 5 ZLEW 73 15 131 1 72 0 0 73 15 16 35 294200 0 0 294235 30269 5 30274 324509
406|R)BIEEZ =)L (BI&PCB) 6 1| 07 0 6 0 0 6 1 1 0 2 0 0 2 5400 0 5400 5402
20715 (AFx>TFLY) =T7LFILT—F 1 1 2 0 1 0 0 1 1 1 0 17 0 0 17 290 0 290 307
W (I FIVEDRFEA1 2051 5F
TREDRVZDEGYICRS, )
208|RY (AFPIFLY) =44 FINT = 0 1 1 0 0 0 0 0 1 1 0 0 0 0 0 46 0 46 46
LI—FI
40[FY) (AFSITFLY) =/=JTT=) 1 3 4 0 1 0 0 1 3 3 0 330 0 0 330 16 0 16 346
I—FI
M|FJALATILTE K 19 8| 19| 17 4 0 ol 21 8 8 7296 1052 0 0 8aag| 13567 o] 13%67| 21915
M2V AHYRUOFDILLEY 67 21 138 5 62 1 1 69 21 23 610 15922 88 28000 44620 292396 73 292469 337089
a3lmko o Ee of of 1 of of of of of o 0 0 0 0 0 0 0 0 0 0

HRHEE « TAR30FE




OBELBIHERUVBHEONRILFMERIRFHER

1. HEH - BEERID&RE (FRE)
x1 -2 #HEFRR - £%7E
(9 / 9R—=Y)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
B -7
B kit EJ%
T K3 AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= £/ B e

nalmk< L4 Vg 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 1 0 1 1
45|X 54y LB 3 3 5 3 0 0 0 3 3 0 3 45 0 0 0 45 4508 0 4508 4554
ABIAZ VY IEE2 —ZTFILANFVIL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 49 0 49 49
MxHLYLEE2, 3—THRFLFOPIL 1 1 1 1 0 0 0 1 1 0 1 61 0 0 0 61| 32000 o| 32000 32061
28X oY BE2— (UAXAFILTIJ)) TF 1 1 1 1 0 0 0 1 1 0 1 24 0 0 0 24| 22000 o| 22000 22024

12
X H Y LEE LTI —TFIL 1 1 2 1 0 0 0 1 1 0 1 29 0 0 0 29| 23000 o| 23000 23029
20| X557 JLEE A FIL 3 4 6 2 1 0 0 3 4 0 4| 48320 0 0 o| 48320 47203 o 47203 95523
R4 —XAFYFoAFESV—2—-FV 1 0 1 1 1 0 0 2 0 0 0 42 5 0 0 47 0 0 0 47
422 (2) =2 —XFATFEINIT/ V=4 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 210 0 210 210

, B—UXFI—2-EYIVZ )RS

Jy BRIV LYY)
B AFITIY 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
WBIAFILFTYIL Y 41 3| 2| 4 0 0 ol 4 3 0 3 1865 0 0 0 1865 5358 0 5358 7223
MIAFLYER (4, 1=vO0~FVLY 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0

) =AYV TR—k
WMIAFLVER (4, 1—7xz=LV) =Y 0 1 6 0 0 0 0 0 1 0 1 0 0 0 0 0 29 0 29 29

R Sl
42|12 — X WA T IRV FTI—)L 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 35 0 35 35
453|E) TFE YRV FDILEY 2 8 14 1 1 0 0 2 7 3 10 4 10 0 0 13 7371 94 7466 7479
w5|lE LRy v 1 2 2 1 0 0 0 1 2 1 3 12 0 0 0 12[ 27002 47| 27049| 27061
456(Y AETILI =D L 1 0 1 1 0 0 0 1 0 0 0 6 0 0 0 6 0 0 0 6
60| ABERNY RYIL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 13 0 13 13

&5t 3425| 531 6659 2634| 823 1 3| s461| 5271 18| 545| 2105693| 368256 88| 28000 2502037| 3023721 499 3024220 5526257

HRHEE « TAR30FE




